

ON DISCRETE GENERALIZATIONS OF GRONWALL'S INEQUALITY

BY

RAVI P. AGARWAL AND E. THANDAPANI

Abstract. This paper deals with several new discrete generalizations of Gronwall's type inequality. To justify the results obtained here some applications are also given.

1. Introduction. The theory of difference equations is in a process of continuous development and it has become significant for its various applications in numerical analysis, control systems, engineering and so on. The role played by the discrete inequalities in the theory of difference equations is well known. One of the most used discrete inequality is the analogue of the celebrated Gronwall-Bellman-Reid inequality established by Jones [6] and Sugiyama [18]. On the basis of various motivations this inequality has been extended and used in various contexts. The discrete analogue of Bihari's inequality is due to Hull and Luxemburg [5].

For the finite system of discrete inequalities

$$\phi(t) \leq a(t) + \sum_{s=0}^{t-1} A(s) \phi(s)$$

where the components of $\phi(t)$, $a(t)$ and the elements of the matrix $A(t)$ are nonnegative, then the upper estimate can be obtained on using the known results in literature provided $A(t)$ is upper or lower triangular matrix.

For the general $A(t)$ two different approaches have been used: first deals with the solution of the related difference system (component-wise inequalities as in [1]), and another is by using any convenient norm as in [18].

For the second order system

$$\phi_1(t) \leq a_1(t) + \sum_{s=0}^{t-1} f_{11}(s) \phi_1(s) + \sum_{s=0}^{t-1} f_{12}(s) \phi_2(s)$$

$$\phi_2(t) \leq a_2(t) + \sum_{s=0}^{t-1} f_{21}(s) \phi_1(s)$$

one can find the explicit genuine upper estimate for $\phi_1(t)$ and $\phi_2(t)$ provided an upper estimate for the inequality

$$\phi_1(t) \leq a_1(t) + \sum_{s=0}^{t-1} f_{11}(s) \phi_1(s) + \sum_{s=0}^{t-1} f_{12}(s) (a_2(s) + \sum_{\tau=0}^{s-1} f_{21}(\tau) \phi_1(\tau))$$

is known. Thus if the matrix $A(t)$ is of some particular nature, the study of the discrete inequalities of the above type involving n summations is necessary. In this paper we shall study mainly this type of inequalities in section 2 and in section 3 we shall present some nonlinear generalizations. Finally in section 4 several applications of these results are given.

The following notations we shall use throughout the paper. N denotes the set $\{0, 1, \dots\}$. The expression $\sum_{s=0}^{t-1} b(s)$ represents a solution of the linear difference equation $\Delta x(t) = b(t)$ for all $t \in N$ under the initial condition $x(0) = 0$, where Δ is the operator defined by $\Delta x(t) = x(t+1) - x(t)$. It is supposed that $\sum_{s=0}^{-1} b(s) = 0$. The expression $\prod_{s=0}^{t-1} c(s)$ represents the solution of the linear difference equation $x(t+1) = c(t)x(t)$ for all $t \in N$ under the initial condition $x(0) = 1$. It is supposed that $\prod_{s=0}^{-1} c(s) = 1$.

In what follows we shall assume that the functions appear in the inequalities are real-valued, non-negative and defined on N .

2. Linear generalizations.

THEOREM 1. *Let the following inequality be satisfied*

$$(1) \quad u(t) \leq p(t) + q(t) \sum_{\varrho=1}^n E_{\varrho}(t, u)$$

where

$$(2) \quad E_{\varrho}(t, u) = \sum_{t_1=0}^{t-1} f_{\varrho_1}(t_1) \sum_{t_2=0}^{t_1-1} f_{\varrho_2}(t_2) \cdots \sum_{t_{\varrho-1}=0}^{t_{\varrho-2}-1} f_{\varrho_{\varrho-1}}(t_{\varrho-1}) u(t_{\varrho-1})$$

for all $t \in N$. Then for all $t \in N$

$$(3) \quad u(t) \leq p(t) + q(t) \sum_{s=0}^{t-1} \left(\sum_{\varrho=1}^n \Delta E_{\varrho}(s, p) \right) \times \prod_{\tau=s+1}^{t-1} \left[1 + \sum_{\varrho=1}^n \Delta E_{\varrho}(\tau, q) \right].$$

Proof. Define $m(t)$ as follows

$$m(t) = \sum_{\varrho=1}^n E_{\varrho}(t, u), \quad m(0) = 0$$

and hence

$$\Delta m(t) = \sum_{\varrho=1}^n \Delta E_{\varrho}(t, u)$$

where

$$\Delta E_{\varrho}(t, u) = f_{\varrho_1}(t) \sum_{t_2=0}^{t-1} f_{\varrho_2}(t_2) \cdots \sum_{t_{\varrho-1}=0}^{t_{\varrho-1}-1} f_{\varrho_{\varrho}}(t_{\varrho}) u(t_{\varrho}).$$

From the assumptions on the functions $\Delta m(t) \geq 0$, hence $m(t)$ is nondecreasing on N . Hence we find

$$\begin{aligned} \Delta m(t) &\leq \sum_{\varrho=1}^n \Delta E_{\varrho}(t, p + qm) \\ &\leq \sum_{\varrho=1}^n \Delta E_{\varrho}(t, p) + \sum_{\varrho=1}^n \Delta E_{\varrho}(t, qm) \\ &\leq \sum_{\varrho=1}^n \Delta E_{\varrho}(t, p) + m(t) \sum_{\varrho=1}^n \Delta E_{\varrho}(t, q) \end{aligned}$$

and thus

$$m(t+1) - \left[1 + \sum_{\varrho=1}^n \Delta E_{\varrho}(t, q) \right] m(t) \leq \sum_{\varrho=1}^n \Delta E_{\varrho}(t, p).$$

Multiplying the above inequality by $\prod_{s=0}^t [1 + \sum_{\varrho=1}^n \Delta E_{\varrho}(s, q)]^{-1}$ and summing over from 0 to $t-1$, we get

$$m(t) \prod_{s=0}^{t-1} \left[1 + \sum_{\varrho=1}^n \Delta E_{\varrho}(s, q) \right]^{-1} \leq \sum_{s=0}^{t-1} \left(\sum_{\varrho=1}^n \Delta E_{\varrho}(s, p) \right) \times \prod_{\tau=0}^s \left[1 + \sum_{\varrho=1}^n \Delta E_{\varrho}(\tau, q) \right]^{-1}$$

and hence finally

$$m(t) \leq \sum_{s=0}^{t-1} \left(\sum_{\varrho=1}^n \Delta E_{\varrho}(s, p) \right) \times \prod_{\tau=s+1}^{t-1} \left[1 + \sum_{\varrho=1}^n \Delta E_{\varrho}(\tau, q) \right].$$

Substituting this estimate in (1), we obtain the desired inequality (3).

REMARK 1. Let in inequality (1), $n = 1$, $q(t) = 1$; then the estimate (3) is same as obtained earlier by Sugiyama [18].

REMARK 2. Let in inequality (1), $n = 1$; then the estimate (3) is same as obtained by Pachpatte [9].

REMARK 3. Several particular cases of theorem 1 have been considered by Pachpatte [13]–[16] but the results are not comparable.

THEOREM 2. *Let the following inequality be satisfied*

$$(4) \quad u(t) \leq u_0 + \sum_{s=0}^{t-1} f(s) \left[u(s) + \sum_{\tau=0}^{s-1} g(\tau) u(\tau) \right]$$

for all $t \in N$. Then for all $t \in N$

$$(5) \quad u(t) \leq u_0 \left[1 + \sum_{s=0}^{t-1} f(s)(1 - \phi(s)) \prod_{\tau=0}^{s-1} [1 + f(\tau) + g(\tau)] \right]$$

where

$$\phi(t) = \sum_{s=0}^{t-1} g(s) \left(\prod_{\tau=0}^s [1 + f(\tau) + g(\tau)] \right)^{-1} \sum_{\tau=0}^{s-1} g(\tau).$$

Proof. As in the proof of theorem 1, we define $m(t)$ as the right member of (4). Then

$$(6) \quad \begin{aligned} \Delta m(t) &= f(t) \left[u(t) + \sum_{\tau=0}^{t-1} g(\tau) u(\tau) \right] \\ &\leq f(t) \left[m(t) + \sum_{\tau=0}^{t-1} g(\tau) m(\tau) \right]. \end{aligned}$$

Define $n(t)$ as follows

$$n(t) = m(t) + \sum_{\tau=0}^{t-1} g(\tau) m(\tau)$$

then, we have

$$(7) \quad \Delta n(t) = \Delta m(t) + g(t)m(t)$$

and

$$(8) \quad m(t) \leq n(t) - u_0 \sum_{\tau=0}^{t-1} g(\tau).$$

Using (6) and (8) in (7), we get

$$\Delta n(t) \leq f(t) n(t) + g(t)n(t) - u_0 g(t) \sum_{\tau=0}^{t-1} g(\tau)$$

or

$$n(t+1) - [1 + f(t) + g(t)] n(t) \leq -u_0 g(t) \sum_{\tau=0}^{t-1} g(\tau).$$

Multiplying the above inequality by $\prod_{s=0}^t (1 + f(s) + g(s))^{-1}$ and summing over from 0 to $t - 1$, we get

$$n(t) \leq u_0 [1 - \phi(t)] \prod_{s=0}^{t-1} (1 + f(s) + g(s)).$$

On substituting the above estimate in (6) and summing over from 0 to $t - 1$, we obtain the desired result.

REMARK 4. For $\phi(t) = 0$ in (5), the estimate is same as obtained in [10]. Infact almost all the results obtained in [13] - [16] can be improved uniformly using the same arguments as in the proof of theorem 2.

Our next result is the discrete analogue of Willett's inequality [22].

THEOREM 3. *Let the following inequality be satisfied*

$$(9) \quad u(t) \leq p_0(t) + \sum_{i=1}^n p_i(t) \left(\sum_{s=0}^{t-1} v_i(s) u(s) \right)$$

for all $t \in N$. Then for all $t \in N$

$$(10) \quad u(t) \leq E_n p_0(t)$$

where

$$E_i = D_i D_{i-1} \cdots D_0$$

$$D_0 \omega = \omega$$

$$D_j \omega = \omega + (E_{j-1} p_j) \left(\sum_{s=0}^{t-1} v_j \omega \prod_{\tau=s+1}^{t-1} (1 + v_j E_{j-1} p_j) \right)$$

$$j = 1, 2, \dots, n.$$

Proof. For $n = 1$, we obtain from theorem 1

$$\begin{aligned} u(t) &\leq p_0(t) + p_1(t) \sum_{s=0}^{t-1} v_1(s) p_0(s) \prod_{\tau=s+1}^{t-1} (1 + v_1(\tau) p_1(\tau)) \\ &= E_1 p_0(t). \end{aligned}$$

Now, assume that the result is true for some k such that $1 \leq k \leq n - 1$, then for $k + 1$, we are given

$$u(t) \leq p_0(t) + \sum_{i=1}^k p_i(t) \sum_{s=0}^{t-1} v_i(s) u(s) + p_{k+1}(t) \sum_{s=0}^{t-1} v_{k+1}(s) u(s)$$

and, we find

$$u(t) \leq E_k p^*(t)$$

where

$$p^*(t) = p_0(t) + p_{k+1}(t) \sum_{s=0}^{t-1} v_{k+1}(s) u(s).$$

Form the definition of E_k , we have

$$u(t) \leq E_k p_0(t) + E_k p_{k+1}(t) \left(\sum_{s=0}^{t-1} v_{k+1}(s) u(s) \right)$$

which is obtained on using the fact that $\sum_{s=0}^{t-1} v_{k+1}(s) u(s)$ is nondecreasing for all $t \in N$.

Once again on using theorem 1, we obtain

$$\begin{aligned} u(t) &\leq E_k p_0(t) + E_k p_{k+1}(t) \sum_{s=0}^{t-1} v_{k+1}(s) E_k p_0(s) \\ &\quad \times \prod_{\tau=s+1}^{t-1} [1 + v_{k+1}(\tau) E_k p_{k+1}(\tau)] \\ &= D_{k+1}(E_k p_0(t)) \\ &= E_{k+1} p_0(t). \end{aligned}$$

Hence the result follows from finite induction.

COROLLARY 4. *Let in inequality (9), $p_i(t) \geq 1$ for all $i=1, 2, \dots, n$ and $t \in N$. Then*

$$\begin{aligned} u(t) &\leq \prod_{i=1}^n p_i(t) \left[p_0(t) + \sum_{s=0}^{t-1} p_0(s) \left(\sum_{i=1}^n h_i(s) \prod_{j=1}^n p_j(s) \right) \right. \\ &\quad \left. \times \prod_{\tau=s+1}^{t-1} \left[1 + \sum_{\varrho=1}^n h_{\varrho}(\tau) \prod_{i=1}^n p_i(\tau) \right] \right]. \end{aligned}$$

COROLLARY 5. *Let the inequality (9) be satisfied for all $t \in N$, where (i) $p_0(t)$ is positive and nondecreasing (ii) $p_i(t) \geq 1$ for all $i = 1, \dots, n$ and nondecreasing for all $n \geq i \geq 2$. Then*

$$u(t) \leq E_n p_0(t)$$

where

$$E_0 \omega = \omega$$

$$E_k \omega = \omega (E_{k-1} p_k) \prod_{s=0}^{t-1} [1 + h_k(s) E_{k-1}(p_k(s))]$$

$$k = 1, 2, \dots, n.$$

The proof of corollaries 4 and 5 are similar to theorem 1 and theorem 3 respectively.

3. Nonlinear Generalizations.

THEOREM 6. *Let the following inequality be satisfied*

$$(11) \quad u(t) \leq p(t) \left[u_0 + \sum_{\varrho=1}^{n-1} E_{\varrho}(t, u) + E_n(t, u^{\alpha}) \right]$$

for all $t \in N$, where $u_0 \geq 0$ and $0 \leq \alpha < 1$. Then for all $t \in N$

$$(12) \quad u(t) \leq p(t) e^{-1}(t) \left\{ u_0^{1-\alpha} + (1-\alpha) \sum_{s=0}^{t-1} \Delta E_n(s, p^{\alpha}) \right. \\ \left. \times [e(s+1)]^{1-\alpha} \right\}^{1/(1-\alpha)}$$

where

$$e(t) = \prod_{s=0}^{t-1} \left[1 + \sum_{\varrho=1}^{n-1} \Delta E_{\varrho}(s, p) \right]^{-1}.$$

Proof. Let $R(t)$ be the term inside the bracket of right side of (11). Then

$$u(t) \leq p(t) R(t)$$

$$\Delta R(t) = \sum_{\varrho=1}^{n-1} \Delta E_{\varrho}(t, u) + \Delta E_n(t, u^{\alpha})$$

$$\leq \sum_{\varrho=1}^{n-1} \Delta E_{\varrho}(t, pR) + \Delta E_n(t, p^{\alpha} R^{\alpha})$$

$$\leq \sum_{\varrho=1}^{n-1} \Delta E_{\varrho}(t, p)R(t) + \Delta E_n(t, p^{\alpha}) R^{\alpha}(t)$$

or

$$R(t+1) - \left[1 + \sum_{\varrho=1}^{n-1} \Delta E_{\varrho}(t, p) \right] R(t) \leq \Delta E_n(t, p^\alpha) R^\alpha(t).$$

On multiplying the above inequality by $e(t+1)$, we obtain

$$(13) \quad \begin{aligned} \Delta [R(t) e(t)] &= R(t+1) e(t+1) - R(t) e(t) \\ &\leq \Delta E_n(t, p^\alpha) \times e^{1-\alpha}(t+1) [R(t) e(t+1)]^\alpha. \end{aligned}$$

For all $t \in N$ when $\Delta [R(t) e(t)] \geq 0$, we have

$$\begin{aligned} \frac{\Delta [R(t) e(t)]^{1-\alpha}}{1-\alpha} &= \int_t^{t+1} \frac{d[R(s) e(s)]}{[R(s) e(s)]^\alpha} \\ &\leq \frac{\Delta [R(t) e(t)]}{[R(t) e(t)]^\alpha} \end{aligned}$$

and from (13), we obtain

$$(14) \quad \frac{\Delta [R(t) e(t)]^{1-\alpha}}{1-\alpha} \leq \Delta E_n(t, p^\alpha) e^{1-\alpha}(t+1).$$

Similarly for all $t \in N$ when $\Delta [R(t) e(t)] \leq 0$, we have $\Delta [R(t) e(t)]^{1-\alpha}/1-\alpha \leq 0$. Hence obviously (14) follows. Summing up both the sides of (14) from 0 to $t-1$, we get the result.

COROLLARY 7. *Let the following inequality be satisfied*

$$u(t) \leq u_0 + \sum_{\varrho=1}^n \bar{E}_{\varrho}^*(t, u)$$

where

$$\bar{E}_{\varrho}^*(t, u) = \sum_{t_1=0}^{t-1} f_{\varrho 1}(t_1) u^{k_{\varrho 1}}(t_1) \sum_{t_2=0}^{t_1-1} f_{\varrho 2}(t_2) u^{k_{\varrho 2}}(t_2) \cdots \sum_{t_{\varrho-1}=0}^{t_{\varrho-2}-1} f_{\varrho \varrho}(t_{\varrho}) u^{k_{\varrho \varrho}}(t_{\varrho})$$

for all $t \in N$, where $k_{\varrho p}$ are nonnegative numbers and $u_0 > 0$. Then for all $t \in N$

$$u(t) \leq u_0 \left[1 + (1-\alpha) \sum_{s=0}^{t-1} \sum_{\varrho=1}^n \Delta \bar{E}_{\varrho}^*(t, 1) u_0^{\alpha_{\varrho}-1} \right]^{1/1-\alpha}$$

where $\alpha_{\varrho} = \sum_{i=1}^{\varrho} k_{\varrho i}$ and $\alpha = \max \{ \alpha_{\varrho} : \varrho = 1, 2, \dots, n \} (\neq 1)$, and if $\alpha = 1$, then

$$u(t) \leq u_0 \left[1 + \sum_{s=0}^{t-1} \sum_{\varrho=1}^n \Delta \bar{E}_{\varrho}^*(t, 1) u_0^{\alpha_{\varrho}-1} \right].$$

REMARK 5. Several particular cases of theorem 6 and corollary 7 have been discussed in [10] – [21], however the results are not comparable, but following the same lines as in theorem 2 most of his results can be improved uniformly.

In our next result the following class of functions will be needed.

DEFINITION. A function $W: [0, \infty) \rightarrow [0, \infty)$ is said to belong to the class \mathcal{S} if

- (i) $W(u)$ is positive, nondecreasing and continuous for $u \geq 0$
- (ii) $(1/v) W(u) \leq W(u/v)$ for all $u \geq 0$ and $v > 0$

THEOREM 8. *Let the following inequality be satisfied*

$$(15) \quad u(t) \leq p(t) + \sum_{\varrho=1}^n g_{\varrho}(t) \sum_{s=0}^{t-1} h_{\varrho}(s) W(u(s))$$

for all $t \in N$. In (15) $p(t)$ is positive, nondecreasing and $W_{\varrho} \in \mathcal{S}$, $g_{\varrho}(t) \geq 1$ for all $\varrho = 1, 2, \dots, n$. Then for all $t \in N$

$$(16) \quad u(t) \leq p(t) \prod_{\varrho=1}^n g_{\varrho}(t) \prod_{k=1}^n E_k(t)$$

where

$$E_1(t) = G_1^{-1} \left[G_1(1) + \sum_{s=0}^{t-1} h_1(s) \prod_{\varrho=1}^n g_{\varrho}(s) \right]$$

$$E_k(t) = G_k^{-1} \left[G_k(1) + \sum_{s=0}^{t-1} h_k(s) \prod_{\varrho=1}^n g_{\varrho}(s) \prod_{i=1}^{k-1} E_i(s) \right]$$

$k = 2, 3, \dots, n$

$$G_k(u) = \int_{u_0}^u \frac{ds}{W_k(s)} \quad 0 < u_0 \leq u$$

as long as

$$\left[G_k(1) + \sum_{s=0}^{t-1} h_k(s) \prod_{\varrho=1}^n g_{\varrho}(s) \sum_{i=1}^{k-1} E_i(s) \right] \in \text{dom } G_k^{-1}.$$

Proof. From inequality (15) it follows that

$$v(t) \leq 1 + \sum_{\varrho=1}^n \sum_{s=0}^{t-1} h_{\varrho}(s) \prod_{i=1}^n g_i(s) W_{\varrho}(v(s))$$

where

$$v(t) = \frac{u(t)}{p(t) \prod_{i=1}^n g_i(t)}.$$

Thus it is sufficient to show that $v(t) \leq \prod_{k=1}^n E_k(t)$, and this we shall prove by induction. For $\varrho = 1$, we have

$$(17) \quad v(t) \leq 1 + \sum_{s=0}^{t-1} h_1(s) \prod_{i=1}^n g_i(s) W_1(v(s)).$$

Let $m(t)$ be the right member of (17), then we obtain

$$\Delta m(t) \leq h_1(t) \prod_{i=1}^n g_i(t) W_1(m(t)).$$

Now from the definition of G_1 and the above inequality, we have

$$\begin{aligned} G_1(m(t+1)) - G_1(m(t)) &= \int_{m(t)}^{m(t+1)} \frac{ds}{W_1(s)} \\ &\leq \frac{1}{W_1(m(t))} \Delta m(t) \\ &\leq h_1(t) \prod_{i=1}^n g_i(t). \end{aligned}$$

Summing up the above inequality from 0 to $t-1$, we find

$$m(t) \leq E_1(t),$$

and hence

$$v(t) \leq E_1(t).$$

Now, assume that the result is true for some k such that $1 \leq k \leq n-1$, then for $k+1$, we are given

$$\begin{aligned} v(t) &\leq \left[1 + \sum_{s=0}^{t-1} h_{k+1}(s) \prod_{i=1}^n g_i(s) W_{k+1}(v(s)) \right] \\ &\quad + \sum_{\varrho=1}^k \sum_{s=0}^{t-1} h_{\varrho}(s) \prod_{i=1}^n g_i(s) W_{\varrho}(v(s)) \end{aligned}$$

since the part in the bracket in the right side is non-decreasing, we find

$$v(t) \leq \left[1 + \sum_{s=0}^{t-1} h_{k+1}(s) \prod_{i=1}^n g_i(s) W_{k+1}(v(s)) \right] \prod_{\varrho=1}^k E_{\varrho}(t)$$

or

$$\frac{v(t)}{\prod_{\Omega=1}^k E_{\Omega}(t)} \leq 1 + \sum_{s=0}^{t-1} h_{k+1}(s) \prod_{i=1}^n g_i(s) \prod_{\Omega=1}^k E_{\Omega}(s) \times W_{k+1} \left(\frac{v(s)}{\prod_{\Omega=1}^k E_{\Omega}(s)} \right)$$

now $v(t) \leq \prod_{\Omega=1}^{k+1} E_{\Omega}(t)$ follows on using the same arguments as in the case $\Omega = 1$.

COROLLARY 9. *Let the hypothesis of theorem 8 holds and in addition $g_i(t)$ for all $i = 2, \dots, n$ are nondecreasing. Then for all $t \in N$*

$$u(t) \leq p(t) \prod_{i=1}^n F_i(t)$$

where

$$F_1(t) = g_1(t) G_1^{-1} \left[G_1(1) + \sum_{s=0}^{t-1} h_1(s) g_1(s) \right]$$

$$F_k(t) = g_k(t) G_k^{-1} \left[G_k(1) + \sum_{s=0}^{t-1} h_k(s) g_k(s) \prod_{i=1}^{k-1} F_i(s) \right]$$

as long as

$$G_k(1) + \sum_{s=0}^{t-1} h_k(s) g_k(s) \prod_{i=1}^{k-1} F_i(s) \in \text{dom } G_k^{-1}.$$

4. Some applications. As we have mentioned in section 1, for several particular systems of discrete inequalities, explicit upper estimates can be obtained on using the results of sections 2 and 3. For example, for two dimensional discrete inequalities

$$|x_i(t)| \leq |k_i| + \sum_{s=0}^{t-1} |f_i(s, x_1(s), x_2(s))| \quad (i = 1, 2)$$

(which appear in the study of two dimensional differential systems using Euler's method), if

$$|f_i(t, x_1(t), x_2(t))| \leq b_i(t) + a_{i1}(t)|x_1(t)| + a_{i2}(t)|x_2(t)|$$

then it follows from corollary 3.2 [1] that $|x_i(t)| \leq u_i(t)$ where $u_1(t)$ and $u_2(t)$ is the solution of the following discrete system

$$(18) \quad \begin{aligned} \Delta u_i(t) &= b_i(t) + a_{i1}(t) u_1(t) + a_{i2}(t) u_2(t) \\ u_i(0) &= |k_i| \end{aligned}$$

now, theorem 1 can be used to obtain upper estimates atleast. Infact from (18) we find

$$u_2(t) = \prod_{s=0}^{t-1} (1 + a_{22}(s)) \left[|k_2| + \sum_{s=0}^{t-1} (b_2(s) + a_{11}(s) u_1(s)) \cdot \prod_{\tau=0}^s [1 + a_{22}(\tau)]^{-1} \right]$$

now substituting this in the first equation of (18), we find for $u_1(t)$ the exact form as in theorem 1.

Next we shall make a comparative study of some known results, Following the same notations as in [11], we consider the linear stochastic discrete system

$$(19) \quad y_{n+1}(\omega) = A(\omega)y_n(\omega), \quad y_0(\omega) = x_0$$

and the perturbed system including an operator T as

$$(20) \quad \begin{aligned} x_{n+1}(\omega) &= A(\omega) x_n(\omega) + f_n(\omega, x_n(\omega), (Tx_n)(\omega)) \\ x_0(\omega) &= x_0. \end{aligned}$$

Let $Y_n(\omega)$ denotes the stochastic fundamental matrix solution of the homogeneous system (19) such that $Y_0(\omega)$ is the unit matrix.

The following modified versions of his [11] theorems 2-4 which require weaker conditions can be proved using the results obtained in sections 2 and 3 here and the parallel arguments he has used.

THEOREM 2'. *Suppose that*

$$\begin{aligned} &|Y_n(\omega) Y_{s+1}^{-1}(\omega) f_s(\omega, x_s(\omega), (Tx_s)(\omega))| \\ &\leq a_s(\omega) |x_s(\omega)| + b_s(\omega) |(Tx_s)(\omega)| \end{aligned}$$

where $a_s(\omega)$, $b_s(\omega)$ are non-negative random functions defined for $s \in N$, $\omega \in \Omega$. Further, suppose that the operator T satisfies the inequality

$$|(Tx_n)(\omega)| \leq \sum_{s=0}^{n-1} c_s(\omega) |x_s(\omega)|$$

where $c_n(\omega)$ is a non-negative random function defined for $n \in N$, $\omega \in \Omega$. Then to every bounded random solution $x_n(\omega)$ of (19) on N , the corresponding random solution $x_n(\omega)$ of (20) is bounded on N provided

$$\prod_{s=0}^{\infty} \left[1 + a_s(\omega) + b_s(\omega) \sum_{\tau=0}^{s-1} c_\tau(\omega) \right] < \infty.$$

THEOREM 3'. *Let us assume*

$$|Y_n(\omega) Y_{s-1}^{-1}(\omega)| \leq M e^{-\alpha(n-s)}, \quad |Y_n(\omega)| \leq M e^{-\alpha n}$$

$$|f_n(\omega, x_n(\omega), (Tx_n)(\omega))| \leq a_n(\omega) |x_n(\omega)| + b_n(\omega) |(Tx_n)(\omega)|$$

$$|(Tx_n)(\omega)| \leq e^{-\alpha n} \sum_{s=0}^{n-1} c_s(\omega) |x_s(\omega)|$$

where $M > 0$, $\alpha > 0$ are constants and $a_n(\omega)$, $b_n(\omega)$, $c_n(\omega)$ are defined in theorem 2'. Then all random solutions of (20) approach zero as $n \rightarrow \infty$, provided

$$K = \prod_{s=0}^{\infty} \left[1 + a_s(\omega) + b_s(\omega) \sum_{\tau=0}^{s-1} c_\tau(\omega) e^{-\alpha\tau} \right] < \infty.$$

THEOREM 4'. *In theorem 3' let $-\alpha = \varepsilon$ and $K \leq c$ where $c > 0$ is a constant, then the conclusion of his theorem 4 follows.*

Several other applications of these results obtained here will be published separately.

REFERENCES

1. R. P. Agarwal, *On finite systems of difference inequalities*, J. Math. and Phys. Sci., **10** (1976), 277-288.
2. J. Chandra and B. A. Fleishman, *On a generalization of the Gronwall-Bellman lemma in partially ordered Banach spaces*, J. Math. Anal. Appl., **31** (1970), 668-681.
3. C. V. Coffman, *Asymptotic behaviour of solutions of ordinary difference equations*, Trans. Amer. Math. Soc., **110** (1964), 22-51.
4. P. Henrici, *Discrete variable methods in ordinary differential equations*, Wiley, New York (1962).
5. T. E. Hull and W. A. J. Luxemburg, *Numerical methods and existence theorem for ordinary differential equations*, Numer. Math. **2** (1960), 30-41.
6. G. S. Jones, *Fundamental inequalities for discrete and discontinuous functional equations*, SIAM J. Appl. Math., **12** (1964), 43-47.
7. M. Lees, *Approximate solutions of parabolic equations*, J. Soc. Indust. Appl. Math., **17** (1969), 167-183.
8. L. V. Masolockaja, *Stability of difference equations* (Russian), Differencial'nye Uravenija, **34** (1967), 1967-1983.
9. B. G. Pachpatte, *On the discrete generalizations of Gronwall's inequality*, Jour. Ind. Math. Soc., **37** (1973), 147-156.
10. _____, *Finite difference inequalities and their applications*, Proc. Nat. Acad. Sci. India, **43(A)** (1973), 348-356.
11. _____, *On perturbed stochastic discrete systems*, Bull. Austral. Math. Soc., **11** (1974), 385-393.
12. _____, *Finite difference inequalities and discrete time control systems*, Indian J. Pure and Appl. Math., **9** (1978), 1282-1290.

13. _____, *On discrete inequalities related to Gronwall's inequality*, Proc. Indian Acad. Sci., **85A** (1977), 26-40.
14. _____, *On some new discrete inequalities involving partial sums*, Indian J. Pure and Appl. Math. **9** (1978), 640-647.
15. _____, *A note on some fundamental discrete inequalities of the Gronwall-Bellman type*, Bull. Inst. Math. Acad. Sinica, **5** (1977), 121-128.
16. _____, *A note on some finite difference inequality*, The Mathematics student, Vol. XLIII (1975), 102-104.
17. B. G. Pachpatte and S. G. Deo, *Stability of discrete time systems with retarded argument*, Utilitas Mathematica, **4** (1973), 15-33.
18. S. Sugiyama, *On the stability problems of difference equations*, Bull. Sci. Engrg. Res. Lab. Waseda Univ., **45** (1969), 140-144.
19. _____, *Stability and boundedness problems on difference and functional difference equations*, Mem. School Sci. Engrg. Waseda Univ. **33** (1969), 79-88.
20. _____, *Stability problems on difference and functional differential equations*, Proc. Japan Acad. **45** (1969), 526-529.
21. D. Willett and J. S. W. Wong, *On the discrete analogues of some generalizations of Gronwall's inequality*, Monatsh. Math. **69** (1964), 362-367.
22. D. Willett, *A linear generalization of Gronwall's inequality*, Proc. Amer. Math. Soc. **16** (1965), 774-778.

MATSCIENCE, THE INSTITUTE OF MATHEMATICAL SCIENCES, MADRAS-600020,
INDIA